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GENERAL AWARENESS

1) The Union Cabinet Constituted a special
investigation team(S1T) to look into the issue of
black money in May 2014.the SIT is headed by
1) Justice B.S.Chasuhan 2) Justic Dipak Misra
3) Justic T.5.Thakur 4} Justic M.B.Shah
5) None of these

2) Who was appointed as the National Security
Adviser(NSA) on May 30,2014%He Succeeded
Shivshankar Menon)

1) M.K.Narayanan
i) Shyam Saran
5) Dilip Trivedi

3) The 35" edition of the National Games will be
held in Which of the following sataes in January-
February-20157

1) Goa 2) Karnataka
4) Maharashtra 5) Manipur

4) Who was appointed as the vice president and

Auditor General of the world Bank on

2) Ajit Doval
4) Rajiv Mathur

3) Kerala

May?23,20147
1) Haruhiko Kuroda  2) Hiroshi Naka

i) Kikno Iwata 4) Masaaki Shirakawa
5) Takehiko Nakao

5) Who was appointed as the 14" Attorney General
of India in May 2014 7( He succeeded Gulam
Vahanavati )

1) Rohinton Nariman  2) Gopal Subram
3) Mohan Jain 4) Siddharth L
5) Mukul Rohatgi

6) The European Union banned the imp#ért
vegetables from india from May 1,2
of the following is not one of them?
1) Eggplant 2) Taro plant

7) Which of the following Pri
to six persons, one fronyea
geographic regions?
1) Abel prize 2)Pulj

India. It1s ?
3) 110022

Pin code to
1) 100200
4 110201
9) JI_‘_i,i‘ﬂ parsi'§
aE ; dia was launched by the

jernal Affairs  3) Finance
4) Human Rcsu e Development
5) Minority Affairs

v

10) Gyan Correa is the Director of which of the
following films 7 _
1) The Lunchbox 2) English Vinglish
3) Bhaag Milkha Bhaag 4) Celluloid
5) The Good Road
11) If a Basic saving Bank Deposit Ac
(BSBDA) holder has any otherexi
bank account in that bank:, he
required to close it w1th1 i

1) 15 days
4) 60 dafs

- 2) Luchlenstem 3) Switzerland
burg 5) All the above
Halep is the winner of the 2013
mlin Cup held in Moscow.She is a tennis
yer from ?
) Australia ~ 2) France  3) Romama
4) Russia 5) Kazakhstan
) Who among the following did not score a
double century in one day international cricket
matches ¥
1) Sachin Tendulkar 2) Virendra Sehwag
3) Virat Kohli 4) Rohit Sharma
5) Both 3 and 4
17) The Global Gender Gap Report was first
published in 2006 by the ?
1) World Bank 2) International Monetary Fund
3) United Nations Development Program -
4) World Economic Forum  5) None of these
18) “Time to Act’ is a declaration of the united
Mations general Assembly against 7
1) Mliteracy  2) Poverty 3) Sexual Violence
4) Global Warming  5) AIDS
19) Robusta is a species of which of the following
crops that has its origins in Africa? -
1) Tobacco 2) Rubber 3) Banana
4) Coffee 5) Cocoa




20) The Aswan High Dam is situated in which of
the following African Countries?
1) Sudan  2) Migeria 3) Egypt
4) Algeria 5) Tanzania

21) Who played the lead role in the film paan

Singh Tomar?
1) Farhan Akhtar  2) Vinay Pathak
3) Rajkumar Rao  4) Salman Khan
5) Irrfan Khan

22) What does *S” denote in the abbreviation
UNSC?
1)Social  2) Scientific  3) Security
4) Secular 5) Sensitive

23) Which Indian batsman scored the fastest One
day International century { in 52 balls) in
October 20137

1) Rohit Sharma 2) Sachin Tendulkar
3) Virendra Sehwag 4) Shikar Dhawan
5) Virat Kohli

24) Which of the folowing seeks to check tax
avoidance by investors routing their funds
through tax havens?

1) GST 2) FDI 3) CCEA 4) GAAR 5)FII

25) Which is the largest recipient of foreign

remittances in 20137

1)India  2)China 3) Philippines

30) Which team won the women's Hockey Asia
Cup 2013 in Kuala Lumpur,Malaysia?
1yJapan  2) South Korea 3) India
4) China  5) Malaysia

31) Which of the following was set up on the
recommendations of Royal Commission on
Indian Cwrency and Finance !

1) EXIM Bank  2) NABARD
3) SBI 4) BSE 5) RBI
32) Indian Banks Association ([BA}ywas formed in
which of the following yes

low-income

s Dickens  2) Charles Lamb

4) Mexico 5) Nigeria 4) O Henry
26) ‘Migration and remittance Flows:Recent n Swifi
Trends and Outlook 2013-16" is a report < 3 hich ﬂ[‘ I.he following constitutional
released by the ? . amendments is known as *Mini Constitution™?
1) World Bank 40" 2)42%  HT 445"
2) United Nations General Assembly e 5) None of these
3) United Nations Security Council y} Who is the author of the book
4) world Economic Forum “The state of the Nation’?
5) International Monetary Fund , 1} Kuldip Nayar  2) Vinod Mehta
27) Which of the following Co 3) Fali SNariman  4) Mark Tully
to the backwardness of States 7 5) Soli sorabjee
1) Vijay Kelkar Cummitt 38) The headquarters of Universal Postal Union 1s
2)C. Rangmajan Commifi located in 7

1) Montreal ( Canada) 2)Berne{Switzerland)
3) Geneva (Switzerland) 4) London (UK)
5) Washington D.C.(USA)

39) Whichcountry won the maximum number of
medals in the 20" Asian  Athletic
Championship Held in Pune recently ?
1)Japan  2) Saudi Arabia 3) Bahrain
4)India  5) China

40) The endangered species are listed in what color
date book 7
1)Black 2)Red 3) Green 4)Blue 35) White




41-55: Read the following passage carefully and
answer the questions given below it. Certain words are
pmmwdmhhmmimumm&m
some of the questions, .

A large majority of the poor in India are outside the
formal banking system, The policy of financial inclusion |
sets out to remedy this by making available a basic
banking ‘no frills' aceount either with nil or very mini-
mmhhnmuwelluchtmstlmtwmldmﬂeimh
accounts accessible to vast sections of the population.
Howaver, the mere opening of 8 bank aceount t.l_unm!
nfeveryhnuﬂeﬁulljwadlllt:mn.ﬂym‘t enough, |
unless these accounts and financial services offered to |
them ane used by the account holders. At present, com- -
mercialbankadnnﬂtﬁnditvilhllmpmriﬂnmm:
the poor especially in the rural areas because of huge |
transaction costs, low volumes of savings in the accounts, .
lack of information on the account holder, etc, For the
poor, intefacting with the banks with their paper work, |
sconomic costs of going to the bank and the need for Nex-
ibility in their accounts, make them tum to other infor-:
mal channels or other institutions. Thus, there are con-
straints'on both the supply and the demand side.

Till now, banks wee looking at these acconnts from a |
‘purely credit perspective. Instead, they should look at!
this from the paint of view of meeting the huge need of the '
poor for savings. Poor households want to save and, con-
tmn'mthemmmpumpbnn.dnhweﬂwfundnw
gave, but lack control. Informal mutual saving systems |
like the Rotating Savings and Credit Associations
(ROSCAs), widespread in Africa, and “thrift umlcradfg!
groups’ in India demonstrate that poor households save.
Far the poor household, which lacks access to the
insurance system and the credit aystem, savings provid
a safety net and help them tide over crises. Savings
aleo keep them away from the clutches of money |
ma.kaformalinnﬁtutinnﬂ more faveurable to lending

return.

increasing the savings of the small account holdefs. Ao
MFT in the Philippines, which had existing aces
ers, was studied. They offered new products with ‘edm
mitment features’. Cne type had withdraw] ‘ﬂ.. i
the sense that it required individuals tf rySEct their
right to withdraw any funds from thed CoenITLs
until they reached a salf-specified =

The other type was deposit optiops.
chase a locked box for a amall fee.
bank and the client has to briag
make the deposit. He could g
ﬁhﬂwant-udtu T]:Lau-a Ao

with  eommitment funau should be optional,
Furthermore transaction costs for the poor could be cut
down, by making innovative use of technology available
and offering mobile vans with ATM and deposit collection
features which could vist villages periodically.

4l. What is the aim of the financial inclusion policy?
1. Afocus on savings needs rather than eredit needs
of the poor )
"2, Minimising utilisation of technology in banks so
a8 to reduce transaction costs for the poor
3. Tobooat low savings volumes in banks by encour-
aging savings among the rural poar
4. To make formal basic banking services availahle
to the poor
5. To regulate the rate at which money lenders lend
to the poor
ﬂ. Wﬂchufﬂ:.uﬁuﬂnmhmﬁﬂmth-cunmt
" of the passage?
1. 'I'I:sr&mnumfnrmul ;

k' personnel do not treat the poor respectful-
:| becanse their savings amounts are minimal,
(B £. Both {4) to (B)
(B)&iC) - 4. All (&), (B) & (0

E Meme of these

What do the results of the study conducted in

the Philippines indicate?

L .hm:umhuidmmmf‘luhawhuhwamngu
rates than banks,

2. Many of the poor have to turn to money lenders
because of strict restrictions in MF1s.

3. Having accounts with restriction on withdrawal
requires the bank to offer & higher rate of inter-
m_ ¥
4, There should be strong security measures for

depogit accounts for the poor.
5. Mone of these

45. What is / are the outcome(s) of encouraging
savings for the poor?

A, Iffrees them from the exploitation of money lenders.
B. Banks are more willing to disburse loans to those

who save,

. They should invest in neky but high return ven-
tures.

1, Only (&) | 2. Both (A) & (B)

3. Only (C) 4. All (A), (B) & (C)

5. Nome of thess

46. Which of the following can be inferred about
products with commitment features?
A, Demand for such products was high )
B. They were an effactive mamnfmﬂ'uuni the
savings of small account holders.
C. Buch facilities ean only be offered by informal

e o e TN AL | R L5 BT W Mk i i 4 nCohm

ingtitutions like MFIs,
L. All (A}, (B) & (C) 2, Only (B)
3. Both (A) & (B) 4. Both (A) & (C)
| 5. Mone of theas



s

47, Which of the following is a recommendation
made by the author regarding fnancial inclu-
glon? .

1. Reduce the paper work involved by seeking less.,
information about the aceount holder.

2. Lower transaction costs by utilising latest tech-
nology

3. Make commitment features compulsery for all
savings accoants.

4, Entrust the responsibility of financial inclosion
solely to MFIa.

5. Provide credit facilities even to those without
savings accounts.

48. Which of the following factors affects ‘saving'
behaviour among the poor?

A, Thrests from money lenders if they avail of bank-
ing services.

B. Documentation required before avs.ﬂmgnfhm:k
ing services,

C.  Lack of self-control,

1. Omly (A)

3. Omly (C)

&, Nome of these

49, m:mhnr'lmlnnhjmﬁwinnriﬂuthnpw

" sage is to—

1. criticise the concept ufﬁnmlﬂsl mrlmmm

2. point out the problems of financial inelusion )

3. discuss ways of nuk:i.ug the financial inelision ;
palicy successful

4. compare financial inchasion pi:lhm-aa of different !
countries

5. cite research in support of role MFIa i'n ad:umnn
financial inclusion

2. All (A), (B} & (C)
4. Both (B) & (C)

_50. What was the view of banks regarding tha

bank sccounts of the poor in the past?
1. They were considered a problem since account
holders information needed to be updated con-
stantly.
2. Forus should be more on providing savings faci
ities not credit,
3 Hnmyiendiﬂshwldhmhhﬂm h

o0,
4. Products with commitment featured.
successful, i
6. MNone of these.
§51-53: Chose the word which §
SAME in meaning as the word pi
used in the passage.
Bl. remedy
1. medicine 2. solve
5. heal
52, purely
1. morally
3. completely

4. appear

word which iz most OPPOSITE in
meaning of ¢ Mudmboiduauuedmﬂbepﬂ!—
5. pecessible
1. eonvenient 2. unavailable
3. unfavourahle 4, unpleasant
5. formal

55. optional ,
1. voluntary 2. compromise
3. pressure 4, mandatory
4. free

56-6; Reod each sentence o find ot whether thers is
any ervor in it. The error, if any, will be in one port of the sen-
tence. The number of that part is the answer, If there is no
ervor, the answer is (5) (Ignore errors of punctuation, if any).
_58. Real estate prices in the (1) / busineas district, of the

city (21 are expectad to rise (3)/ at 15% this year. (4)/
No'errar (6). .
G7. Experts have recommended that (1) the government

reconsiderad (2) restrigtions imposed on foreign (3)
investment in real ests Mo error (5)

| i i 5 slHERed At thﬁz}mﬂ&t-

i eall inmalere he palicy (41 No

- r{E}
schem-Fiile I:maune{l}‘mmamtatumuldqut
hanage not to raise (31 the necessary funds(4)

lecayée of the pace at (1)V which the company is
growing (2)' [ believe it will easily (3) achieve their
barget (43 Mo error (50
/It is truth(1V that India is (2V the largest consumer
of (3¥ gold in the world (4} No error (5,
B8 According to him (1) two factors which are (2V needy
for suceeas (3) are discipline and diligence (4¥ No
| error (5.
,' 66-70: Which of the phrases (1), (2), (%) and t’-ﬂ fiven
i below should replace the phrase given in bold in the fol-
! lowing senfence fo make the sentence grammagtically
| meaningful and correct. If the sentence is correct as it is
i and No correction is required”, mark (5] as the answer
| 68. Absence off any guidelines, they are unwilling
to take up the project.
1. Absent of
2. In the absence of
3. because of the absence
4. Witheut being absent
i 8. Mo correction required
. @7, ﬁnhmkhmnhmhmkdhlwmdm-
i tivity.
L led to
i 3. and has led in
B | E.Nnmct{mmm'ed
L Fm#cwiuhuu;ammmmm nega-
tive impression. !
s 'ﬁmdulu_'_.'mta.‘tn
3. Your delay in taking
5.Nn¢urmﬂiunraq._|jrad
[i:8 Without ﬂ]l!" d"ehpnaut_ of rural
mple the
mwmumnhhhhdavalnped.
L can never claim 2. being claimed
3. not able to claim 4. have not any elaim
5, Nﬂmﬂmmd '
70. Today management student itself are opted to

work for NGOs even even_ though salari
fered to them are low, i - ks

2. will lead towards
4. which has led to

2. If you delay tnj:mg
4. To delay hy taking



1. student itsalf is 2. students themselves are

4. students have 4. student himself has

f. Mo correction required

71-75: In each question below o sentence with four
words printed in bold type is given. These are numbered as

(1), (2), (3) and (4). One of these four words printed in bold

may be either wrongly spelt or inappropricte in the context

of the sentence. Find out the word, turhich is wrongly spelt
or inappropriate, if any, The number of that word iz your
answer. If all the words printed in bold are correctly spelt
and also appropriate in the context of the sentence, mark

5 '-'ﬂ ‘All Correct’ as your gnswer, ] i

7L In our opinion the exicting(1) assessment-(2) ays-
tem requires / immediate(3) revision (4) /Al

Correct (5) :

T2, The organization preferred (1) to hire locale (2)

" population as they understood the/ language (3)

and customer preferences (4V All Correet (5).

78. With this uniquoe (1¥ initiative (2) the COMpPANY
hopes to sustain (31 it currant (4) growth rate. All
Correct (5), | : )

74. In respomds (1) to the advertisement a sizeahble
(Z¥number of candidates have submitted (3). their
applications(4)/ All Correct (5).

76. "There iz no guarantee (1) that if this model is
adopted (2V the entire sector (3) will prosper.(4)¥
All Correct (5).

T6-80: In each of the following sentences there are
two blank spaces. Below each five pairs of words have been
dencted by numbers (1), (2), (3) (d) and (5). Find out whick
pair of words can be filled up in the blanks in the sertence
mmemmmmMMHmm&
corplife,

76. We are proud to say that today — 26 percent .
of our total accounts are —— by women and
senior citizens.
1. approximate, held
3. over, maintain
5. apound, operated

77. The company has — special training to
employees on — to trade online.

" 1. announced, benefits 2, offered, conrse

2. nearly, authorised
4. above, open

8. imparted, risks 4. sanction, skills
5. provided, how i
T8 - to your error the —
been delayed by a week.
1. According, important 2. Duly, urg
b. Admitting, special

?B- Hl‘-ﬂl'iu.ivmiu-—h M

1. 3645 2.

b, None of these
2 2172+ = 1832 - 956 - 514
1.6 28 d. 10 4 12

5. None of these

: N e
| B3. 4368 + 2158 - 596 - 7 = 3421 + 1262
! 1. 1066 2, 1174 3. 1247 4. 1387
5. None of these :
B4. GEE.06 + 6660 + 0,66 + 6.08 + 6+ 60 = 7
1. 819.56 2. 805.38 3.82644 4 Tod462
| 5. None of thess
B5. (96)* + (63)* = () - (111)% - B350

. 1. 33856 230276 3174 4,184
. 5. None of thesa
BB, 205 x T x 13 = 33625 + 25005
| 1.22 3.27 3.33 4.39
5. None of thesa
B7. [[!Hﬁ'—lﬁxﬂi]f'!- 5

118+ 234
B. None of these
88. (B.2% of 385) - (1.75%
| Lis0z 22804
X 5. None of thess
80, (10)™ x (10

4. 44

4. 53.76

3. 100 4. 1000

3. 6.670 4. 6.607

fome in place of the question mark
ber serips? -

5515 1275 27.5 T1.25 ?
675 221675 3. 20076 4. 236.75

2 23 27 38 B2 77 7
1111 2. 108 3. 113 -4 117
5. 115
84, 16 24 36 54 51 12157
1. 182.25. 2.174.85
5. 16895
95, 12 12 18 45 180 1L70 ?
1. 13485 2. 14675 3. 16890 4. 16756
&, 12285

i 96-100: Study the following table earefully to answer
. the questions that follow:

3. 190.65 4, 166.55



e,

NUMBER OF BOYS AND GIRLS IN FIVE STREAMS OF A COLLEGE OVER THE YEARS

STREAMS

Year Arta Srience Commerce Management IT

Boys | Girls | Boys | Glrls | Boys | Girls | Boys | Girls | Boys | Girls
2002 | 556 414 619 505 BAR 612 | 770 | 633 | 670 516

2003 T63 BO& Ta3 B1E T81 6Blh BET 439 266 722

2004 | 672 518 540 516 858 713 778 | 721 | 781 619

2008 | A09 BO2 92E8 B0R &T0 E1l E40 Ta0 a7t B1T

2006 | 745 | 510 | 884 | se0 | 967 | e | 562 | sas | se0 | s08

2007 | 693 413 T65- 616 571 016 1288 1016 | 116 1010
What is the average number of Girls from | 106-110:Study the i ion catefilly to answer the

Commerce Stream for the given years? | following questions:

1681 2 675 3. 618 4. 657 | Inan crganization &pnsis ployees, the
. None of these 'ruhn-nfh[alaatr.:u]? Ay, ~ ly. All the

employees work i i grtments viz. HR,

- What is the ratio of the total number of Boys to | Management, B o 'I:I'Ep-an::ent.{pftlm
the total number of Girls, from all the Streams | Females work im Mimageme rtmnnt.ﬂﬂpememnl‘
together, for the year 2007 7 ! Males are ig" HB Departo ] fth of the Females
1.2:3 . P 2.14:13 | ; spaTtmentof R mtmrﬂtlﬂﬂfﬂﬂ&ﬁ
.9 5249 4.213: 170 to Femaks inlthe Ma tmm‘-wﬂﬂmm
5. None of these i tively, M percent of the total numbers of emplovees are in
What is the ratio of the total number of Boys to | FR Pepgrtine naleg working in Reeruitment are 50
the total number of Girls in the Management perog . whrking in the same Department. 8
Stream for all the years together? perced Be Male¥'are in IT Department. The remain-
1.9:8 2. 71:86 8 arg in PR Department. 22 percent of the
3.61:83 4.27:23 in HE Department and the remaining
5. Noma of these ng in IT Department. -

What is the total ber of Boys, for all the 'W'hati:l:hehhln::thara!'emiﬁmwnrk
Streams together, in the year 20047 ¥ " '.i‘]T

L4148 2 3630 3. 4433 4, 8247 '

6. None o these 4. 140

IMThnnumhrotBuwlnﬁ:hﬂmmlntha-ym

5. None of these
. What is the total number of Females working in

2004 is approximately what the
et et e ror-Smy S the IT and Recruitment Department together?

number of Boys for all the years together in

Stream? 1. 147 2 83 3126 4. 45
127 2. 34 a.08 4, 39 5. None of these
5 16 108. What is the number of Females working in the
101-105: What approximate value should come Bn HE Department?
place of question mark (?) in the following questions? (¥ 1. 77 2.70 3. 56 4. 134
are nod expected to celeulate the exact palue,) 4. None of these

1oL 6.1325 = 44.0268 = 7 109. Number of Males working in HR Department
L. 820 o 2. 970 forms approximately what percent of total
3. 1050 411 | number of the employees in the Organization?
5. 900 o \'L Biei ' ' L20 228 3.5 4.9

| 102 (935.82)° =T 5. 17
1. B70000 0. Number of Males working in PR Department
3. BA&RO0 forms what percent of the sumber of Females
5. BI9AH0 working in the same Department? (rounded off

tm B14206 ' 36 = 7 w'OGag tntwndiiihaﬂtrdm:imd}l
1. 926 12298 < 2 16.68
3. 304 15 : 3. 11.94 4. 6.79
5.-260 5. 27.86

104, (739% 1L m-mdﬁmﬂhmmmﬂmuﬂnnf
1, 10.00 i 1 : 13 respectively. After 7 years the ratio of
" their ages will be 20 : 23. What is the difference
5. by in years between their ages?

105, (9795 +5 988) + (541 + BI1 + 496) = 7 1. 4 yeara - 2. T years
i@ 4 18 . 3. 6 vears 4. b years
3.17 4 23 5. None of these
5. 29 L2 The simple interest accrued on an amount of

Rs. 1980¢- At the end of three years is Rs.



130, What is th

_..__.___

7.128/-. What would be the compound interest
acerued on the same amount wt the same rate

in the same period? :

1. Rs. BO34.6784 2. Ra. BO17.6744

3. Rs. TBEL.BT54 4. Cannot be determined
5. None of these

U3 If the numerator of & fraction is increased by
400% and the denominator is inereased by 500%,
the resultant h:ﬂmh%.m'unﬁ[hm]
fraction?

5 5 17 4
Ll %23 3 1 il
¢ 5. Nane of these
14 One-eighth of a number is 17.25. What will 73%
i+ of that number he?
1. 100.74 2. 138.00
3. 96.42 4. BL.66
5. None of thess
115. What is 26% of 55% of %m of 6100 7
1. 617 P a3, 706 4. T34
. B None of these

m;m:.- Study the graph carefully fo answer the ques-
Hons that follow:

Number of Girls Enrolled in Different Hobby Classes
in Various Institutes in a year

3 B st - L - i I
40K
E 350
300 7|
s iy | mPainting
00 ] | MStiching
. Obmncing

INSTITUTES .
116 What is the total number of Girls Enrolled i

Painting from all the Institutes together?
1. 1160 2. 1204 3. 1275 4, 1104
5. Mone of these

117. What is the respective ratio of total gy
Girls Enrolled in painting, Stitchi

Dancing from all the Institutes ig
1. 44 ;48 : 47 243 : 4
344 :47: 48 4 47 J48
5. None of these

118 Number of Girls Enrglbes
Institute A forms what ge
of Girls Enrolled in

©1.2387
5. 20.69

. e ratio of total number of
Girls Enrolléd jé Painting in the Institutes A &
C together to those Enrolled in Stitching in the
Institutes D & E together?

1.65:4 25:7 316:23 4.9:8

5. Mone of these

121 hammhmﬂ-cm{kwnﬂenmﬂﬂmQ-
How is BREAD written in that code?

1. EBFAQ 2. EBDAQ
3. BEDQA 4. BEFQA
5. None of these

12 F@urnfthaﬁ:ﬂawingﬁwmaﬂhlunmrtum.
way and so form a group. Which is the one that

does not belong to that group?
L6 . 285 3. 170 4. 255
5. 200

BEE ench of which has as many
hem in the word as in the

3. Two 4. Three

. pHAn ymuningfnlEugﬁlhwmumhe
ﬁt’mudmthﬂmkttmESRﬂnmgemhlemr
once in each word?
"MNone 2. One 3, Two 4. Thres
5. More than three
. How many such digits are there in the number
5231698 each of which is as far away from the
beginning of the number as when he digits are
Hmﬁiumndiniﬂrﬂtr?t
L None 2. Ome 3. Twa 4. Thres
5. More than three
128. If P denotes “+"; ‘R’ denotes “+"; “T" denotes -
and ‘W' denotes <" then-
0REWIDTIZP16="T : |
1. 50 2. 46 3. 30 4. 70
5. None of these - i
12). What should eome next in the following num-
ber sequence?
22832342345 2345662345687234
L8 . 4 3 3.6 4.2
5. None of these
130. Among M, T, R and P, M is older than only P. T
is older than R. Who among them is the oldest?
LT 2R A TwR .
4. Data inadequate 5. Mone of these
{ 131-185)5 In each of the guestions below are given
three statements followed by three conclusions numbered
I 11 & IT1. You have to take the given siotements fo be true
even if they seem to be af varianee from commonly known
facts. Read all the conclusions and then decide which of
the given conclusions logically follows from the given
slalements d;xregurd:u commanly knoiwn facts, - |
131, Statements: Some flowers are hins. Some bins
are handles, All handles are sticks,

Coneclusions: [. Some sticks are hins,
IL. Some handles are flowers
L. Some sticks are flowers.



|
|
|

| 133, Statements: All books are leaves. Some leaves

138, Which of the following is

1. Only 11 follows 3. Only IT1 follows
3. Only I and IT follow 4. Only [ and ITI follow
5. None of these

132 Statements: All trees are gardens. All gardens
are stones. All stones are fences,
Conelusions: L. SBome fences are gardens
II. All gardens are fences
III. Some leaves are boxes.
1. Omly I and 1T follow
2, Only I and III follow
3. Ondy IT and IIT follow .-
4. All fellows
5. Mone of these

_ are jungles. No jungle is box,

_ IIL. Some leaves are boxes
1. None follows 2. Omnly [ follows
3. Omnly IT follows 4. Omly I follows
§. Omly I and IT follow
134. Statements: Some towers are windows. All
windows are houses. Some hous-
es are temples.
Conclusions: I. Some towers are temples
II. Some houses are towers
II1. Some temples are windows.

1. Only I follows 2. Only II follows
3. Ounly 111 follows 4. Only I and IT follow
5, None of thess

135 Statements: Ennnwallnaudﬁuﬂ.ﬂnmudnnu
are costs. Bome cots are doors

Conclusions: 1. Some chairs are doors

IL. Some cots are walls

I No chair is door N
1, Omly IT follows
2, Only I follows
3. Only either T ar ITT follaws
4, Omnly I follows
5. Mone of these
136-14ik Study the Tollowing
fully and answer the questions given
TRET4A9%DFIU#B@sH
VESNPEQ

nfthet-“lfth&umthch
1% 2.5
& Nm:eufmeu

138, How many mh numbers are there in the
above arrangement, each of which is immedi-
ately preceded by a letter but not immediately

« followed by a symbaol?
1. None ' 2. One

3. Two 4. Three
5. More than thres

140. Four of the following five are alike in a certain
way based on their positions in the above
arrangement and so form a group. Which is the
one that does not belong to that group?

1. RTA : 2. 8DF
3. #GH . 4.3V5
5 IW*

(141-145): In each question below is given & group of

| digits followed by four combinations of letters | symbols
| numbered (1), (2, (3} and d). You have to find out which

of the combinations correctly rep
based on the coding systephs

sents the group of digits
aked the md-umr:s given

ndd and the last digit is even,
st and last digits are to be

2. DAK%ER
4. *AR%E

2. ARmDEM
4. $R%EDDE

2. $MATPS
4. ®MASPE
. 2. PRA%SE
3. BAR%EP 4. RAZE"
5. Mone of these
145, 215548
1. RAPK%® 2, *AFE®%*
3. SAPE=S 4. EPAK%R
B. None of thesa )

(146-150): Study the following information carefully

| and answer the questions given below:

A, B,C,D,E,F, G and H are sitting around a circle
faeing at the center, D is second to the left of F and third

i to the right of H.A is second to the right of F and an imme-
diate neighbour of H.C is second to the right of B and F is

t]:urd to the Fight-of B. Gmmtan immediate neighbour of

14& Who is to the immediate left of AT

1LH . - 3.B
3G, - 4, Data inadequate
5, None of these
147. Who is fourth to the right of B?
LE 2.0
3.4 - 4. Data inadequate  *

b. None of thess



148. Whiat is E's position with respect to G?
1. Second to the right
2. Third to the lef
3. Third to the right
4. Second to the left

B. Nome of these
149, How-many of them are there between H and C?
1. Twa 2. Thrée i
3. Two or Three 4. Data inadequate 'Mmﬁ c
5. None of these -3 ‘ lNUR-E'lSSﬁﬂ,E[I
150, In which of the following pairs is the first per- . i
son sitting to the immediate left of the second v.krishnaveni632.y
" person? v |
1.CD 2. BG 3 MODEL PAPER -
3 HA 4.FC '

e

5. None of these

(151-166) in the following questions, the symbala

s and‘% are used with the following meaning as illus-
trated balow:

P& F means ‘P is either greater than or equdl o Q.

‘P % & means P is efther smaller than or equal to @'

'P @ Q' means ‘P is neither greater than nor smaller than g

P # @ means ‘P is smaller than @',

P § § means P is greater than @

Now in each of the following questions assuming the
given statementa to be true, find which of the two conclu-
sions [ and 11 given below them is / ave definitely true?
(iive answer

L. if only Conclusion I is troe.

2. if only Conelusion 1T is true,

8. if either Conclusion T or IT is true.,

4, if neither Conclusion I nor 17 is true,
5. if both Conelusions I and II are true.

151. Statements :
M%T, T#R, R@D
Conclusions:

I. 4T

152, Statements:
JEM, M2 K, E¥N
Conclusions:

I J3E

153, Statements:
F#T, T&W, WiH
Conclusions:

I. FiH

154. Statements:
K2R, R$F, FéB
Conclusions:

I. BSR

155, Statements:

+ D§N, N#F, F&T

COnelusions:
I T#N
(156-160): In edle of

SRR ER P
IMH&M
TLBLTE WL

158,

1. any customer who walks into the Bank
2. an employee of the Bank

3. a customer who is likely to be interested in
Bank's Product or service =

4. a Depositor of the Bank
5. a Barrower of the Bank
182, A Lead means—
1. a Prospee who iz more likely to avail of the
Bank's Product.
2. a Political Leader
3. a Religious Leader
4. a Bank Chairman
&. None of these
168, A Call means — -
L. Calling dn friends .
2. Calling on Bank employees
3. Calling on Proapective customers
4. To make telaphone calls
b. Calling on relatives



164. The Traditional Marketing style involves—
1. Telemarketing
2. Digital Marketing
3. Indirect Marketing
4. Direct markieting
- 5 All of these
185. Modern methods of Marketing include—
1. Publicity on the met
2. Advertisement on the net
3. Boliciting business through e-mails
4. Telemarketing
5, All of these .
166. Cross-selling covers—
1. identifying customer needs
2. matching the Products to customer needs
4. convincing the customers of Product benefits
4. responding to questions and objections of eus-
lamers '
6. All of these
167. Innovation means—
1. Compensation
" 2. Inspiration
3. Additional perquisites .
4. Implementing new ideas or new mothods
5. None of these
168. Which of the following sentences is true?
1. Marketing is not required in a Buyers' Market
+ 8. Marketing is not required in a Sellers’ Market
3. Marketing is not required due to globalization
4. Marketing is not required due to competition
5. Marketing is not required due to liberalization
168, A true marketing mindset requires
1. Command and order mindset
2. Control mindset
3, Active mindset
4, Passive mindast
5. Mone of thess
170. Which of the following statements is trus?

1. marketing makes the company to go i
2. Marketing is not required in profit-ma

4. Marketing sharpens the min P
4, Marketing iz a time-bound i
6. Marketing is a waste of §j

171, Sales forecasting invol
1. Sales Planning

2,

3, entire globe

4. that which consists of customiers who need the
identified product

i & All of thessa
' 174. Find the true statement—
1. Marketing is a waste of the employees’ time
2. Marketing is not required in India due to its vast
population
i 4. Marketing invalves additional woek
! 4. marketing involves team work
| ﬁ.Harhel-mgmnntremmadmduydmmPT
advancement
' 175 Market Research is npeded for —
1. deciding the market area
1 dmdlq:'thenmtpmdu:tmhemhj

2. 0o customization required
¥ the Seller noed not have product knowledge
4. the Seller should aim at customer satisfaction
5. only quantum of sales matters, -
178 For effective marketing, the salesmen should
have which of these qualities——
L. Creativity
2. Team spint
3. Motivation
4, Effective commumication skills
5. All of thess
180. If Marketing is done ul‘.[auﬂ'ﬂ:];r. which of the
following is not required=
1. Advertisement
2. Publicity
3. Marksi Research
4. Market Segmentauun
&, None of these
181. How many values can be represented by a sin-
e byte? |
L4 2.8 3. 64 4. 256
5 512
182 Trlnlfnrmnﬁq-u of input into output s per-
formed by—
L. Peripherals
2. Memory
3. Btorage
4. The Iiput-Cratput unit
6. The CPU
183. Which of the ful.hwmimhnnﬂgm aystem
functions that aren't handled directly by the
operating system?




]

P S Cliphed

4. Integrated saftware
5. Compilers
184, Dgvice drivers are—
1. tiny power cords for external storage devices

2. experts who know how to maximize the perform- -

ange of devices d
i _3. small, special-purpese programs
4. ﬂrti:tnmmmtpartﬂfthaupreraﬁngmm
5. substitutes for operating systems

185. Which of the following refers to a small, single- |

1. LAN ) 2. DL
3. RAM . 4. USB
5. CPU :

186, A set of instructions telling the computer what
to do is called—
1. mentor .
2. instructor
3. compiler
4. program
5. debugger '
187. Data going into the computer is called?
1. oitput
2. algorithm
#. input
4. caleulations )
§. flowchart : .
1B8, If you receive an e-mail from someone
don't know, what should you do?
1. Forward it to the police immediately
2. Delete it without opening it
3. Open it and respond to them saying you don't
know them :
4. Reply and ask them for their personal informa-
tion
5. Reply and tell them you want to keep in touch
with them
188, How many options does a binary choice
1. None
2. Ome
3. Two
4.

B.

182, When cutting sod pasting, the item cut is tem-
porarily stored in o
1. ROM - 2, Hard drive
3 Desketts 4. Dashboard

183. When you are working on 8 document on a PC,
where is the document temporarily stored?
1. RAM 2. ROM
3. The CPU 4. Flash memory
B. The CD-ROM
184. Ome megabyte equals approximately—
1. 1,000 bits
2. 1,000 bytes
4. 1 milljon bytas
4. 1 million bits
6. 2,000 bytas
195, The blinking symbol on the compujer screen is
called the—
‘1. mouge
3. hand
5. cursor

188. Computers connected
Nitwp:rhm . h-mww
1. run faster
*2. goon line -
4. share information amn : .
Frra : d / or share peripheral
4. E-mail
5. None of these

. 200. Magnetic tape is not practical for applications

where data must be quickly recalled

1. a random-pecess medium

2. a sequential - access medium N
4. a read - only medium |
4. fragile and easily damaged

5. an expensive storage modinm - ,’- -\’(
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